
Di
m

en
si

on
al

 d
at

a 
no

t b
in

di
ng

. W
e 

re
se

rv
e 

th
e 

rig
ht

 to
 a

lte
r s

pe
ci

fic
at

io
ns

 w
ith

ou
t n

ot
ic

e.

Dimensions in mm
Inches are approximate

www.hafele.com/usFC 6.22

6

1/19

 

25 (1")

10 (3/8")

44
(1 3/4")

Ø78
(3 1/16")

Ø35
(1 3/8")

Recess for 
velcro tabs

(not supplied)

Mounting
plate

Tube
and

adjusting
foot

11
(7/16")

64
(2 1/2")

64
(2 1/2")

7 (1/4")

21
(13/16")

Square Mounting Plate
•	For Ø78 mm foot

Material:	Plastic; Color: black

Mounting Item No.
press-fit 637.79.300
screw-mount 637.79.301

Supplied With
4 Plates

Adjustment Foot/Tube
•	For Ø78 mm round mounting plate
• Easily adjusts weights up to 150 kg (330 lbs.) per leg
•	Heights listed are total, including mounting plate
•	Adjustment range = -10/+18 mm

Material:	Plastic; Color: black

Base Height Item No.
80 (3 1/8") 637.80.350
100 (4") 637.80.351
120 (4 3/4") 637.80.352
150 (6") 637.80.353

Supplied With
4 Feet
4 Tubes
Pre-mounted nails

Mounting with the plinth
panel spring - front plinth

16 / 13
(5/8" / 1/2")

min. 3 (1/8")
max. 18 (11/16")

Mounting with the plinth
panel clip•	Base heights listed are total including mounting plate, tube, 

	 and adjusting foot
•	Bayonet locking of the tube in the mounting plate prevents the 
	 tube from pulling out during tilting, especially on tall cabinets
•	Plinth panel attaches with the clips shown, or with Velcro applied 
	 to the mounting plate recess

Plinth Panel Spring
• For front plinth mounting
• Plinth panel is removable with disassembly ring

Material:	Stainless Steel

Item No.
637.81.330

Supplied With
20 pcs.

Plinth Panel Clip
•	For rectangular glide

Material:	Plastic

Color Item No.
black 637.81.588

Supplied With
4 Panel holders
Pre-mounted nails

52
(2 1/16")

Plinth Panel Clip
•	Groove-mounted
•	For rectangular glide

Material:	Plastic

Color Item No.
black 637.81.590

Supplied With
4 Panel holders

52
(2 1/16")

3.2
(1/8")

Casters, Feet, Legs, Table Fittings
Base Cabinet Feet



Di
m

en
si

on
al

 d
at

a 
no

t b
in

di
ng

. W
e 

re
se

rv
e 

th
e 

rig
ht

 to
 a

lte
r s

pe
ci

fic
at

io
ns

 w
ith

ou
t n

ot
ic

e.

Dimensions in mm
Inches are approximate

www.hafele.com/us FC 6.23 

6

1/19

Mounting with the plinth
panel spring - front plinth

16 / 13
(5/8" / 1/2")

min. 3 (1/8")
max. 18 (11/16")

Mounting with the plinth
panel clip•	Base heights listed are total including mounting plate, tube, 

	 and adjusting foot
•	Bayonet locking of the tube in the mounting plate prevents the 
	 tube from pulling out during tilting, especially on tall cabinets
•	Plinth panel attaches with the clips shown, or with Velcro applied 
	 to the mounting plate recess

Plinth Panel Spring
• For front plinth mounting
• Plinth panel is removable with disassembly ring

Material:	Stainless Steel

Item No.
637.81.330

Supplied With
20 pcs.

 

25 (1")

10 (3/8")

44
(1 3/4")

Ø46
(1 3/4")

Ø35
(1 3/8")

Recess for 
velcro tabs

(not supplied)

Mounting
plate

Tube
and

adjusting
foot

11
(7/16")

64
(2 1/2")

64
(2 1/2")

10
(3/8")

21
(13/16")

21
(13/16")

Triangle Mounting Plate
•	For Ø46 mm foot

Material:	Plastic; Color: black

Mounting Item No.
press-fit 637.79.310
screw-mount 637.79.311

Supplied With
4 Plates

Adjustment Foot/Tube
•	For Ø46 mm triangle mounting plate 
•	Heights listed are total, including mounting plate
•	Adjustment range = -10/+18 mm
Weight capacity: 150 kg (330 lbs.) each leg

Material:	Plastic; Color: black

Base Height Item No.
80 (3 1/8") 637.80.360
100 (4") 637.80.361
120 (4 3/4") 637.80.362
150 (6") 637.80.363

Supplied With
4 Feet 
4 Tubes

Plinth Panel Clip
•	For triangular glide

Material:	Plastic

Color Item No.
black 637.81.589

Supplied With
4 Panel holders
Pre-mounted nails

52
(2 1/16")

Plinth Panel Clip
•	Groove-mounted
•	For triangular glide

Material:	Plastic

Color Item No.
black 637.81.591

Supplied With
4 Panel holders

52
(2 1/16")

3.2
(1/8")

Casters, Feet, Legs, Table Fittings
Base Cabinet Feet



Di
m

en
si

on
al

 d
at

a 
no

t b
in

di
ng

. W
e 

re
se

rv
e 

th
e 

rig
ht

 to
 a

lte
r s

pe
ci

fic
at

io
ns

 w
ith

ou
t n

ot
ic

e.

Dimensions in mm
Inches are approximate

www.hafele.com/usFC 6.24

6

12/17

Casters, Feet, Legs, Table Fittings
Base Cabinet Feet

Adjustment Feet
• Slots in base allow for easy adjustment with
	 flat blade driver
Shaft: Ø28 mm
Adjustment Range: -5/+20
Weight capacity: 114 kg (250 lbs. per foot)

Material:	Plastic; Color: black

Height Item No.
80 mm (3 3/16") 637.19.380
100 mm (4") 637.19.360

Note
Height listed is total, including mounting socket.
See page 6.24B for plinth clips and M10 attachment screw.

H
ei

g
ht

22
(7

/8
")

20
(13/16")24

(15/16")
Ø48

(1 7/8")

Adjustment Feet - Short Applications
Height Item No.
50 mm (2") 637.86.331
70 mm (2 3/4") 637.86.335

Note
50 mm (2") version will not accept plinth clips.

H
ei

g
ht

22
(7

/8
")

24
(15/16")

Ø48
(1 7/8")

8
(5/16")

Mounting Sockets 
• 2 versions to choose from: Screw or through-mounted 	
	 using M10 attachment screw, see page 6.24B
• Press-fit versions with expanding pound in dowel
	 to secure

Material: Plastic; Color: black

Mounting Item No.
screw-mount 637.19.964
pound in dowel-mount - Ø10 mm 637.19.952
pound in dowel-mount - Ø15 mm 637.19.954

26
(1 1/16")

Ø

3
(1/8") 24

(1
5/

16
")

12
(1

/2
")

32
(1 1/4")

32
(1

 1
/4

")
58

(2
 5

/1
6"

)

10
(3/8")

65
(2 5/8")

26
(1 1/16") 3

(1/8")

24
(15/16")

65
(2 5/8")

32
(1 1/4")

32
(1

 1
/4

")
58

(2
 5

/1
6"

)

10
(3/8")



Di
m

en
si

on
al

 d
at

a 
no

t b
in

di
ng

. W
e 

re
se

rv
e 

th
e 

rig
ht

 to
 a

lte
r s

pe
ci

fic
at

io
ns

 w
ith

ou
t n

ot
ic

e.

Dimensions in mm
Inches are approximate

www.hafele.com/us FC 6.24A 

6

12/17

Casters, Feet, Legs, Table Fittings
Base Cabinet Feet

24
(15/16")

24
(1

5/
16

") H
ei

g
ht

Ø48
(1 7/8")

Mounting Sockets – XT Plastic
•	Both versions can be screw-mounted,
	 or through-mounted using M10 attachment screw,
	 see page 6.24B

Material:	Plastic; Color: black

Version Item No.
round 637.59.980
with additional support tab 637.59.992

Note
Height ranges include mounting socket.

Adjustment Foot - XT
• With reversible inner threaded tube to create
	 2 height ranges:	100 mm - 140 mm (4" - 5 1/2")
		  130 mm - 170 mm (5" – 6 3/4")
•	Choose between plastic or metal mounting sockets below
Shaft Ø28 mm
Weight capacity: 150 kg (330 lbs. per foot)

Material: Shaft: Steel; Foot: Plastic; Color; black

Item No.
637.59.932

Note
Height ranges include mounting socket.
See page 6.24B for plinth clips and M10 attachment screw.

M10

26
(1 1/16")

24
(15/16")

24
(1

5/
16

")

30
(1 3/16")

4
(3/16")

60
(2

 3
/8

")

34
(1

 3
/8

")

34
(1 3/8")

24
(15/16")

24
(1

5/
16

")
48

(1
 7

/8
")

4
(3

/1
6"

)

66
(2 5/8")

42
(1 11/16")

24
(15/16")

18
(1

1/
16

")

M10

32
(1 1/4")

140
(5 1/2")

170
(6 3/4")

130
(5")

100
(4")

Mounting Sockets - XT Metal
•	2 versions to choose from
•	Square is screw-mounted
•	Round is for through-mounting only using
	 M10 attachment screw, see page 6.24B

Material:	Steel

Version Item No.
round 637.19.020
square 637.19.060

24
(15/16")

26
(1 1/16")

25
(1")

30
(1 3/16")

43
(1

 1
/1

6"
)

60
(2

 3
/8

")

4
(3/16")

43
(1 1/16")

60
(2 3/8")

26
(1 1/16")

60
(2

 3
/8

")

30
(1 3/16")

4
(3/16")

26
(1 1/16")

24
(15/16")

M10

M10



Di
m

en
si

on
al

 d
at

a 
no

t b
in

di
ng

. W
e 

re
se

rv
e 

th
e 

rig
ht

 to
 a

lte
r s

pe
ci

fic
at

io
ns

 w
ith

ou
t n

ot
ic

e.

Dimensions in mm
Inches are approximate

www.hafele.com/usFC 6.24B

6

12/17

Cap
Material:	Plastic

Color Item No.
white 637.45.791

Attachment Screw - M10
Material:	Steel

Finish Item No.
zinc-plated 637.45.997

Casters, Feet, Legs, Table Fittings
Base Cabinet Feet

Plinth Clips for Ø28 mm Shafts
Material: Spring Clip: Steel; Adapter: Plastic; Color: black

Description Item No.
spring clip 637.19.941
groove-mount adapter 637.19.942
screw-mount adapter 637.42.020

Note
Order Spring Clip and choose between screw-mounted or 
groove-mounted adapters

Groove-mount

Spring clip

Screw-mount

33
(1

 5
/1

6"
)

35
(1 3/8")

37
(1 7/16")

12
(1/2")

12
(1/2")

6
(1

/4
")

6
(1

/4
")

30
(1

 3
/1

6"
)

24
(15/16")

7
(5/16")

4
(3

/1
6"

)

37
(1 7/16")

24
(15/16")

12
(1/2")

12
(1/2")

6
(1

/4
")

6
(1

/4
")

30
(1

 3
/1

6"
)



D
im

en
si

on
al

 d
at

a 
no

t 
bi

nd
in

g.
 W

e 
re

se
rv

e 
th

e 
ri
gh

t 
to

 a
lte

r 
sp

ec
ifi

ca
tio

ns
 w

ith
ou

t 
no

tic
e.

Dimensions in mm

Inches are approximate

www.hafele.com/us FC 6.25 

6

Casters, Feet, Legs, Table Fittings
Base Cabinet Feet

34
(1 5/16")

5
(3/16")

30
(1 3/16")

Toekick

height

60 (2 3/8")

28
(1 1/8")

48
(1 7/8")

20
(13/16")

M1024 (1")

37
(1 1/2")

30
(1 3/16")

#6

Flat Head

Cap

Material: Plastic

Color Item No.

white 637.45.791

Attachment Screw - M10

Material: Steel

Finish Item No.

zinc-plated 637.45.997

Leveler

• 2-part
• 3 flat head screws can be used in place of M10 screw
• Adjustment Range: -5 + 10 mm
Weight rating: 150 kg (330 lbs.) per leg

Material: Plastic; Color: black

Toekick height Item No.

80 (3 1/8") 637.45.308

100 (4") 637.45.326

120 (4 3/4") 637.45.344

150 (6") 637.45.371

Panel Clip

• 2-part
• Groove-mounted to toekick panel

Material: Plastic

Color Item No.

black 637.45.915

Panel Clip

• 2-part
• Screw-mounted to toekick panel

Material: Plastic

Color Item No.

black 637.45.906

Base plate remains
stationary during
adjustment

Flat head screws pages 11.132-11.133, 11.135



D
im

en
si

on
al

 d
at

a 
no

t 
bi

nd
in

g.
 W

e 
re

se
rv

e 
th

e 
ri
gh

t 
to

 a
lte

r 
sp

ec
ifi

ca
tio

ns
 w

ith
ou

t 
no

tic
e.

Dimensions in mm

Inches are approximate

www.hafele.com/usFC 6.26

6

Adjuster

• 2-part
• M10 attachment screw with cap
Shaft: Ø28 mm (1 1/8")

Material: Steel; Finish: zinc

Toekick Height Item No.

100 - 120 (4" - 4 3/4") 637.19.219

120 - 140 (4 3/4" - 5 1/2") 637.19.228

150 - 170 (6" - 6 3/4") 637.19.237

#6

Flat Head

37
(1 1/2")

51
(2")

Panel Clip

• 2-part
• Screw-mounted to toekick panel

Material: Plastic, Steel

Color Item No.

black 637.19.906

37
(1 1/2")

51
(2")5

(3/16")

Panel Clip

• 2-part
• Groove-mounted to toekick panel

Material: Plastic, Steel

Color Item No.

black 637.19.915

Casters, Feet, Legs, Table Fittings
Base Cabinet Feet

Base plate remains
stationary during
adjustment

Flat head screws pages 11.132-11.133, 11.135



D
im

en
si

on
al

 d
at

a 
no

t 
bi

nd
in

g.
 W

e 
re

se
rv

e 
th

e 
ri
gh

t 
to

 a
lte

r 
sp

ec
ifi

ca
tio

ns
 w

ith
ou

t 
no

tic
e.

Dimensions in mm

Inches are approximate

www.hafele.com/us FC 6.27 

6

• Offers a wider range of adjustment with fewer items
• Allows for greater flexibility at installation
• Components ordered separately

Adjustment Foot

Shaft Ø30 mm (1 3/16")
Weight rating: 250 lbs.

Material: Plastic; Color: black

Base Height Item No.

91 (3 9/16") - 119 (4 11/16") 637.54.311

141 (5 9/16") - 169 (6 11/16") 637.54.313

Adjustment
+28

(1 1/8") 

Min. 91/141
(3 9/16"/5 9/16")

Extension Tube

• Offers 50 mm (2") of additional height 
• Press-fits into adjustable foot tube

Material: Plastic

Color Item No.

black 637.54.320

50
(2")

26
(1 1/16")

78
(3 1/16")

Mounting Socket

• Dowel-mounted

Material: Plastic

Color Item No.

black 637.54.330

55
(2 1/8") 25

(1")

32
(1 1/4")

 32
(1 1/4")

10
(3/8")

11
(1/2")

55
(2 1/8")

Mounting Socket

• Screw-mounted

Material: Plastic

Color Item No.

black 637.54.335

48
(1 7/8")

32
(1 1/4")

32
(1 1/4")

20
(3/4")

77
(3")

Plinth Clip

• Screw-mounted to base panel

Material: Plastic

Color Item No.

black 637.54.340

31
(1 1/4")

9
(3/8")

40
(1 5/8")

39
(1 1/2")

11
(1/2")

38
(1 1/2")

Ø29
(1 1/8")

Casters, Feet, Legs, Table Fittings
Base Cabinet Feet


